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Guess Paper – 2010

Class – XII

Subject – Chemistry (Identification of Organic Compounds)
 1Etheral solution of an organic compound ‘A’ when heated with magnesium gave ‘B’. ‘B’ on 

      treatment with ethanal followed by acid hydrolysis gave 2-propanol. Identify the compound  

      ‘A’. What is ‘B’ known as?
2 An organic compound (A), C4H9Cl on reacting with aqueous KOH gives (B) and on reaction with alcoholic KOH gives (C) which is also formed on passing the vapours of (B) over heated copper. The compound (C) readily decolourises bromine water. Ozonolysis of (C) gives two compounds (D) and (E). Compound (D) reacts with NH2OH to give (F) and the compound (E) reacts with NaOH to give an alcohol (G) and sodium salt (H) of an acid. (D) can also be prepared from propyne on treatment with water in presence of Hg2+ and H2SO4. Identify (A) to (H) with proper reasoning.

3 A neutral organic compound (A), C3H6O2 on hydrolysis gives a monobasic acid (B) and a neutral compound (C). The acid (B) reduces HgCl2 solution. The compound (C) gives iodoform test. Write structures of (A), (B) and (C) and give equations to explain the reactions involved.

(5)
4 An organic aromatic compound A on treatment with CHCl3 and KOH gives B and C, both of which, in turn give the same compound D when distilled with Zn dust. Oxidation of D yields E of formula C7H6O2. The sodium salt of E on heating with soda lime gives F which can also be obtained by distilling A with Zn dust. Identify A, B, C, D, E and F.

5 An organic compound with the molecular formula C9H10O forms 2,4-DNP derivative, reduces Tollens’ reagent and undergoes Cannizzaro reaction. On vigorous oxidation,it gives 1,2-benzenedicarboxylic acid. Identify the compound.
6  An organic compound (A) (molecular formula C8H16O2) was hydrolyzed with dilute sulphuric acid to give a carboxylic acid (B) and an alcohol (C). Oxidation of (C) with chromic acid produced (B). (C) on dehydration gives but-1-ene.Write equations for the reactions involved.
7 An organic compound contains 69.77% carbon, 11.63% hydrogen and rest oxygen. The molecular mass of the compound is 86. It does not reduce Tollens’ reagent but forms an addition compound with sodium hydrogensulphite and give positive iodoform test. On vigorous oxidation it gives ethanoic and propanoic acid. Write the possible structure of the compound.

8 An organic compound ‘A’ (molecular formula C3H6O) is resistant to oxidation  but forms a compound ‘B’  (C3H8O) on reduction. ‘B’ reacts with HBr to form a bromide ‘C’ which on treatment with alcoholic KOH forms an alkene ‘D’ (C3H6). Deduce the structures of A, B, Cand D.
9 An alkene, C6H12, after ozonolysis yielded two products. One of these gave a positive iodoform reaction but a negative Tollen’s test. The other product gave a positive Tollen’s test but a negative iodoform test. What is the structure and name of alkene?
10  An organic compound (A) having the molecular formula C3H8O on treatment with Cu at 3000C gives (B). (B) does not reduce Tollen’s reagent but gives positive iodoform test. Write down the structures of (A) and (B). 
11 An organic compound (A) with molecular formula C3H6O is not readily oxidized. It gives on reduction C3H8O (B) which on reaction with HBr gives a bromide (C). Grignard reagent obtained from (C) reacts with (A) to give C6H14O (D). Identify the compounds from (A) to (D). 
 12  2-Bromopentane, when treated with alcoholic KOH yields a mixture of three alkenes A, B and C. Identify A, B and C. Which is predominant?
13 C4H8Cl2 (A) on hydrolysis forms C4H8O (B) which forms an oxime, but does not reduce Fehling solution. B also gives iodoform test. Identify A and B and explain reactions.
14 A halide, on treating with alc.KOH gives only 2-pentene. What is halide?
15 A halide, on treating with alc.KOH gives only 1-pentene. What is halide?
16 A chloroderivative ‘X’ on treatment with zinc and hydrochloric acid gave a hydrocarbon with five carbon atoms in the molecule. When X is dissolved in ether and treated with sodium, 2, 2, 5, 5-tetramethyl hexane is obtained. What is compound X?
17 A primary halide (A), C4H9Br, reacted with alcoholic KOH to give compound (B). Compound (B) reacted with hydrogen bromide to give (C), an isomer of (A). When (A) was treated with sodium, it gave a compound (D), C8H18, which was different from the compound produced when n-butyl bromide was reacted with sodium. Draw the structural formula of A and write equations for all reactions.
18 Treatment of 2-bromobutane with hot alcoholic KOH solution gives a mixture of three isomeric butanes (A), (B) and (C). Ozonolysis of the minor product (A) gives formaldehyde and another aldehyde in equimolar amounts. Both (B) and (C) gave the same single product (D) on ozonolysis. What are the structural formulae of (A), (B), (C) and (D)?
19 Give simple test to distinguish among hexane and CH3-CH=CHCl
20 Give simple test to distinguish among CH3-CH=CHCl, CH3-CH2-CH2Cl and CH2=CH-CH2Cl.
21 An organic compound (A) C7H15Cl on treatment with alcoholic caustic potash gives a hydrocarbon (B) C7H14. (B) on treatment with ozone and subsequent hydrolysis gives acetone  and butyraldehyde. What are (A) and (B). Explain reactions. 
22Isopropyl alcohol on treatment with excess of hot concentrated H2SO4 gives a compound (A) which on treatment with HBr gives (B). (B) when dissolved in ether and treated with sodium gives (D). What is (D)?
23 An alcohol of unknown structure gave a positive Lucas test in about 5 minutes. When the alcohol was treated with hot conc. H2SO4 , an alkene was formed which had the formula C4H8O . Ozonolysis of this compound gave a single product C2H4O. What was the structure of the alcohol?
24 Compound (A), C5H10O forms phenylhydrazone, gives negative Tollen’s and iodoform tests and reduces to pentane. What is the structure of the compound (A)?

Two compounds (A) and (B) have molecular formula C2H6O. On reacting with HI, (A) gives alkyl iodide and water while (B) gives alkyl iodide and alcohol. What are (A) and (B)? Write their structures.
25 Compound (A), C4H10O, is found to be soluble in sulphuric acid. (A) does not react with sodium or potassium permanganate. When (A) is heated with excess of HI, it is converted into a single alkyl halide. What is (A)? 
26 An organic compound (A) having molecular formula C3H8O on treatment with Cu at 3000C gives (B).  (B) does not reduce Tollen’s reagent but  gives positive iodoform test. Write down the structures of A and B.


27 A liquid (X) having molecular formula C6H12O2 is hydrolyzed by water in presence of an acid to give carboxylic acid (Y) and an alcohol (Z). Oxidation of (Z) with chromic acid gives(Y). What are (X) ,(Y) and (Z)?           
 28 An organic compound (A) on treatment with acetic acid in presence of conc. Sulphuric acid produces an ester (B). (A) On mild oxidation gives (C). (C) With 50% KOH followed by acidification with dilute HCl generates (A) and (D). (D) With PCl5 followed by reaction ammonia gives (E). (E) On dehydration produces HCN. Identify the compounds (A), (B), (C), (D) and (E).   
An organic compound C4H10O (A) on passing over heated alumina gave another compound (B) which decolourises Bayer’s reagent and on ozonolysis gives acetaldehyde. Deduce the structure of compound (A). How many isomers of A are possible? Give their IUPAC names.




(3)

Q2 A compound having molecular formula C5H12O immediately gives white turbidity with anhydrous zinc chloride in the presence of hydrochloric acid. Name the organic compound.  
(2)

Q3 An alcohol C5H11OH gives a ketone on oxidation. If it is dehydrated (using an acid catalyst) and the resulting alkene is oxidised, a mixture of acetone and acetic acid results. What is the structure of alcohol?   (3)
Q4 An organic compound A with molecular formula, C6H6O gives a characteristic colour with aqueous FeCl3 solution. A on treatment with CO2 and NaOH at 400K under pressure gives B which on acidification gives a compound C. C reacts with acetyl chloride to give D which is a popular pain killer. Deduce the structures of A, B, C and D and write the reactions involved.
(3)
    An organic compound A(C5H8) on hydrogenation gives compound B(C5H12). Compound A on ozonolysis Gives formaldehyde and 2-ketopropanal. Deduce the structure of A and B.             
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